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|. Explain any five of the following terms briefly : 2x5=10
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y’ Define Previous Year

,(Xl - What is Unabsorbed Depreciation ?
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What are the deductions allowable under Section 24

while computing income under the head ‘Income

from House Property’ ?
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& What expenses are allowed while computing “Profits

and Gaimms trom Business or Proftession’ ? *
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Mr. Aniket aquired 5000 shares in ABC Ltd., an
unlisted company on 20-5-1999 for < 2,50,000. On
Ist May, 2005, the company allotted bonus shares In
the ratio of 1 : 5. In December 2009, he was otfered
richt shares by Company in the ratio 1 : 2 at the rate

of T 80 per share. He exercised his right entitlements

.nd acquired the shares. He sold all shares on

ate of T 200 per share. Compute
s on 1-4-2001

[5-1-2021 at the T

the amount of capital gans. FMV a

was % 50 per share and s on 31-1-2018 was I 93

per share. CI1—2005-06 : 117; 2009-10 : 148:

9020-21 : 301.
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5. Discuss in brief t the de MU tion under Section
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What are the provisions rcgarding carry forward and
cet-oft of losses under the Income Tax Act ?
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Note — Part—A contains eight questions, attempt any five out
of them and it carries 10 marks. Attempt one question
cach from Parts—B, C, D and E which carries
[0 marks each.
a:TR T5 10 3h] & %n -9, 9, § a?lI 3 fl ﬁ VISED
d Ush-Uekh Y94 wifee, foed goIE 10 $ih 3

Part-A (H9T1-37) ' -
|. Explain briefly any five of l;he tollowmg
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(i)  Auto Correct




) Word: Processing

(ur) Table
o

(1v) Designing facilities

 fesmfin gfawn

('{v)l/ Font size

A1) Types of chart
I % YER

(vif) Correlation
He-9=Y

(viji) Spreadsheet

Part-B (¥T-9)

Unit-I (3=13-1)

What is the purpose of print preview

Exfplain in detail the facility of Spel
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Part—E (9T71-3)
Unit—-1V (WFIV) 1Ox1=10)

S. Explain the role of spreadsheet in calculating Capital

Budgeting.
§ wee W o ww # dedie #ogfeE
Or
at 1s Payroll ? How to calculate and manage

payroll in Excel ? A
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Note :— Attempt one question from each Unit.. All questions

carry equal marks.
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' - arn A fataze A 210 TEE & 15000 3FEES
On Application 1 | -
On Allotment | %2
On First Call 7 3

On Second and Final Call Balance Y

The issue was fully subscribed. Goldi to whom 150

shares were allotted, failed to pay the allotment money

and his shares were forfeited immediately after
allotment. Sukhu to whom 150 shares were allotted,
fatled to pay the first call. His shares were also
forteited after the first call. Afterwards the second
and final call was made. Vivek to whom 50 shares
were allotted failed to pay the second and final call.
His shares were also forfeited. All the forteited shares
were re-issued at ¥ 9 per share fully paid up. Pass
necessary journal entries in the books of Baba Balal

Lid.
CH-97 (2)
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Prepare Surplus Account and pass jou
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| the payment of dividend and bonus shar
(3Teran)

* following :

What is Debentures ? What are types of debentures ? Kulbhushan Litd. has last yea

Difterentiate Equity share with De,beﬁtures_ made further profit 3

. N following decisions were f.é-;-.%;’_"-'*‘f"'* --
2O I © 7 RO fRdT UHER $ B & 2 HugH following dec

Prowsmn for Taxation
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Unit-I1

(gehTe-1I)

2. What do you mean by valuation of Goodwill ?
Explain the factors which affect the valuation of

Goodwill,
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SRfsa fAfy @ g fafads g syawnfaa ferar ' e e ot

. R Vhat is Holding Company ? How does @ m
g1, fs|=t gsir T 12.00,000 =1, 56 T30 & 40.000 ompany come into existence

S H Ty fRa T oam) y&E (T 25 Hear) iR

7 2.00.000 FT sfed fAfy 38 wd W fo& sravnfog

W('mmﬁﬁéa)ﬁmaﬁﬁaﬁﬁﬁrq,
ﬂaﬁﬁﬁmaiﬁ(mf‘?rﬁég)aﬁaﬁmw@w |

| The extracts .,

T 7T 99 IR 39Sl HHd 9T °F 9§ Gugu Ltd. on 31st March, 2022 are as T070FF ©

8 < of Sh *frzﬁ'-j-r:n'!'l*i".df Ad. at f
of Balance Sheets of Shankhu Lid

—_]
o

y‘fiﬁ(ﬁ w Ef'ﬁ S"Riawa ﬁ I'GFH:] =l gﬁlalﬁqﬁl $'||55|Q
Tl AHEH F AE IHH g I TAR BT

Particulars

Or
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Discuss various modes of alternation of Capital and

reduction of capital.



Il. Assets :

[. Non-current Assets :
(a) Fixed Assets-Tangible 5,20,000 | 1.10(
(b) Investment
(in 100% shares of
Gugu Ltd. at Cost) 80,000
2. Current Assets :

Sundry Assets 2.00,000 50,0

Total | 8,00,000 |1,60,0

You are required to prepare Consolidated Balance Shg

rrrrr
.'.-fL - WO

as at 31st March, 2022.

31 7, 2022 % vieg fafars i Ty feies & g
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Unit-V
_Current iabilities :

gehTs-) 2. Non .
- 14% Debentures
2.80,000

5. Distinguish between Balance Sheets of Banking and 12% Mortgage Loans

Non-banking Companies. 2 Current Liabilities :

FeIU | . )

Trade Payables
|

11. Assets :

Or
- - | Non-current Assets - \l"
(3reram)

(1) Fixed Tangible ASSELS =1

Chinu Ltd., gives you the following extracted Balance Plant and Machnery

Sheets at the end of the year 31.03.2020 and Building

ey 1

31.03.2021 : (b) Fixed Intang ible Assets 3|

Particulars

I. Equity and Liabilities
. Shareholders’ Fund :
Equity Share Capital
General Reserve
Profit and Loss

Statement Balance

H-97 (12 )
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2,380,000
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13,50,000
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Unit-I (Z&rE-1) 14

| Define Cost Accounting. Discuss the objectives of

cost accounting. How does 1t help 1in management 2
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Or (3Tan)

The cost account of a manufacturing company gives

the lollowing information : ¥ I

.- . S | ‘”[E‘l“ii-.ll 46 00N
Closing stock of raw materia 6,000

Closing stock of finished goods 63,000

Purchase of raw material
Opening work-in-progress 6.000"

Closing work-in-progress 10.000

Opening stock of raw material 20,000
Opening stock of finished goods 30,000
Sales of finished goods 2,40,000 S S S sifsT

1 1I\Y94 B | 1411 oh lll-__ 4 <

Administrative overheads | 30,000
Se“lng and diStnbUUOn Overheads l|31000 '_: < ! VOU mean / ' J ,

Direct labour =~ 72,000

Works overheads 22,00 HTHUT EDELIEE:

B Ee
L]

.
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are Statement of Cost and find out Net Profit
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/ Or (37974) e st S
Two components X

and Y are used as follows -

" A4-6 HA=
Normal usage 50 units per week 2-4 F=

Minimum usage 25 units per week

Maximum usage /5 units per week

Rc-m‘dcring quantity : (i) 9 HARY
X 400 units (i) ~LaH ¥
Y o 600 units (iii) EERdH &Y
Re-ordering period :

X 4-6 weeks ,. Unit-=I11 (ga?l'é—lﬂ)

Y 2-4 weeks / What is meant by an incentive plan n the
Calculate for each component : ermuneration. 6f 1 ADOLE 7 Discuss any four mcentive
(¥ Re-ordering Level S
() Minimum Level -s,q-q afisfas & SR A w1 a9 T ) w8

(1) Maximum Level 3

(1v) Average Stock Level
gl 39FI0 X 3R Y fH yHR 39g fed 9@ T

QIHE 39FFRT 50 geRrsAl 9id HE© turnover rate by applying :
ZAdH  3YATI 25 gehgdl Yid H€E (a) Separation Method
HATYFad 39T 75 gehTeAl 9fd €« (b) Replacement Method
9q: 3R HIAT : (¢) Flux Method
X | 400 m No. of workers in the beginning 1000
v 600 =TT No. of workers at the end of the month 1200

(4 CH-98 (5) Turn Over



~2
During the month, 10 workers left, 40 workers were G 3 7 ” ' qen A T e Sfor
discharged and 150 workers were recruited. Out of ﬂ. | 3
these 20 workers were recruited in th (F) =i =0 o A AR e .
h | e ¢ vacancies of FrepTen WA ® 7
those leaving while the rest were engaged for : -
| S _ Or (3Feram)
expansion scheme. A , - P .
| | . at do you mean by Reconciliation of Cost an
e SRSl § o fEER T Financial Accounts ? Discuss the causes of difference
(37) gYFhiTwy fafy in Cost Accounting Profit and Financial Accounting
(7) yfgeemya fafy Profit. | -
_ . o ol qen fadia @l & qHIEE 8§ 5N = S6nd
' | | ¥ 7 faxdra envi qw @ne ol § 92 & Ead
HE % HAFY H HEd FHE St 9 1000 U IS | -
O % HG § wEld gfFel s Ged 1200 Unit-V (3&E-V) s
_ : - B
T # S 10 As FE dE w40 s /- Deine Contract Costing. Discuss the basic fea
e fae fEd TE A 150 SfFE w1 wdt g | T ol contract costing. Also explain Work Certi

3 20 gfaE 1 gdt FamE o3 T3 gfEw & wEH WorUncertifiog

9 # wE, wEfE v # udl faER e @ S

Unit-1V (Z&3-1V) |
4. (a) Explain Over-absorption and Under-absorption
of Overheads.
What do you mean by Machine Hour Rate *

How is it calculated ?

(b)

L1
| B B - =



Particulars Process T Process Il Proces

< 3 3
E Direct matenal 0,000 3,000 2,250
" Direct labour 4,500 3,750 3,450
? Other direct exp. 900 300 750
.: Cost of Containers - 3,100 475

T'he indirect expenses for the period were 3 2—4.”.!;

I'he byproduct of Process Il was sold for ¥ 360 and
Process IIT for ¥ 190.

Prepare Process Account.
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gut gvEl & Sw fademEr <ifsu

H‘ |. Attempt any five short answer type questions (not

more than 5 lines).

fop=el afer oy SWA 9¥E & SW Sy (9T aEAl
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& What is WWW ?
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> Define Online Business. Explain the advantages and
disadvantages of doing onlines business.
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